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Land-Sea Carbon Cycle is now
Out of Balance

due to CO2 emissions
from fossil fuel burning

CO2

 CO2 dissolution rate DS
is now greater than outgassing rate OG 

by 10 Gt /year. 

DS
13 Gt / yr

The ocean's DS – OG disequilibrium is now in the reverse direction, net downward.
Its magnitude (CO2 transfer rate) is 10 Gt /yr.  [DS – OG = 13 – 3 = 10 Gt]
That is about 12 times greater than normal [10 Gt /  0.8 Gt = 12 X], which swamps WT.

 
The land-sea CO2 system is drastically out of balance. 

CO2 is accumulating in both air and water.
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Atmospheric CO2 concentration 
is now 397 ppm  

At 397 ppm, air's increased 
partial pressure retards OG.

At 397 ppm, air's increased 
partial pressure propels DS.
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